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QUESTION 1

What are the responsibilities of a cluster leader in a cluster of Aruba Mobility Controllers (MCs)? (Choose two.) 

A. To identify primary and secondary Mobility Controllers for APs 

B. To create a table to determine how a wireless client maps to a cluster member 

C. To identify a backup cluster leader for redundancy 

D. To manage the configuration of cluster members 

E. To automatically load balance clients if the load across cluster members changes 

Correct Answer: BE 

 

 

QUESTION 2

Which protocol is used between Aruba Mobility Controllers (MC) and ArubaOS-Switches to negotiate tunneled node? 

A. GRE 

B. IPSec 

C. SNMP 

D. PAPI 

Correct Answer: D 

 

 

QUESTION 3

Refer to the exhibit. 
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What can be determined from the command output shown in the exhibit? 

A. The synchronized data is protected by VRRP. 

B. The command was executed on the standby Mobility Master (MM). 

C. The synchronization period is at its default value. 

D. The other Mobility Master (MM) is the active license server. 

Correct Answer: C 

 

 

QUESTION 4

An administrator manages an Aruba wireless solution, deployed in a company with locations across the world. In one
country, the local government organization that controls wireless transmissions increases the maximum EIRP allowed
for certain channels. 

Which component does the administrator need to update on the Mobility Master (MM) to accommodate this change? 

A. the Controller port configuration 

B. the regulatory-cert file 

C. the AP system profile 
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D. the AP Group configuration 

Correct Answer: B 

 

 

QUESTION 5

Which two protocols does AirWave use to monitor Aruba Mobility Controllers ()? 

A. PAPI and AMON 

B. SNMP and AMON 

C. PAPI and GRE 

D. SNMP and SSH 

Correct Answer: B 
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